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Twentieth International Mathematics Contest(Taiwan)
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1. Suppose a— -, b= E c= m d= then what are the four fractions a, b, ¢, d in descending
order? (A)b>d>a>c (B)b>d>c>a (O)c>a>d>b (D) c>a>b>d
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P SR SADE B
7 7 8 8
[5, 6]=30
530, 630 530 . 630
7 42 735 8 48 8 40

R b>d>a>c > 2 A

2. pr#n BEE L L 22 HA- BE ST EANLIOEA > 1A EHTER )LD
>A50 Pln 3 ¥ a5 T OA9R- B #? (A)87 (B)95 (C)99 (D)101
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87=3x29

95=5x19

99=3x33—> 3" ¥ £ ﬁ’?}fiﬂ’ SO
101=1x101
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B S5 24 0 [Ix(5+2)+1=50
(=7 & % % Tx2=14 %
20x(50-14)=720 > £ C
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W gt A 28+30-(50-5)=13

BEZ w72 $£:30-13=17
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5. Please calculate this value. 1x100+2x97+3x94+4x91+...... +34x1=
(A)20210 (B)20220 (C)20230 (D)20240
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n[100-(n-1)x3]=n(103-3n)

103 ﬂx343 34x(34+1)x(68+1)

—61285 41055=20230
#Co

6.F &k il R 7 R AP AEE > TR AN 6 BIRETH 1T H S5 B TH
1 ¥L7 % o — L Bp % AL BHR ’x}ﬁtv BOF ST~ FRELTRAEE B S vh O BE(T &Y
(A)28 (B)29 (C)30 (D)31

<fE47>

57 ~+3 ~=19 57 & .. .(19 B¥g F+19 B 7 ¥%)

19 BFgE +6 BHgE=3¥g7 & .. (1 BFLEH3 BFLE 3 B 7 ¥1)

19 BHLE S5 B 2 HL=3 ¥ ¥ & ... (4 B 3 ¥ 3 BHFLE 3 B 7 ¥7)

(I43+3)BHL E 6 BHFL E=1 g7 & .. (1 BFLE+] BHFLE 1 B T ¥7)

(B+4+3+1) 1 Z ¥#g+5 B 7 =2 ¥y ¥ & .. (1 B Z#g+2 B Z F5+2 BFLE)

£ 5 19343+142=28 i » i A -

To- AR S e K - B AL 2B A E 2 4 51 B AR 1B A ]
Boldgg 4dk o x~F S PERER 1HL F & 9.6 & o FRA S HLAUELE FLA 21 =10
£)(A)4.5 (B)5 (©)5.5 (D)6

<)§'7¢7"}’?>

Porg =] #xx2-2 » & Fg=" Fg+-] Fgtd=-) #xx3-2+4=-] FEx3+2

A FEA P HL] L= FOX3H2H ] FEX2-2+) ¥5=9.6x10=96

6 -] #3=96 - -] #3=16
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2 =8 ] 5x5=25

3@ ][] 5x5x5=125

4 =810 L] 5><5><5—125

X 5+25+125+125=280 I » :E C -

International Mathematics Contest (Taiwan) — &E(5 F4k)



= EHIFEREERES 7 #2140 9)

1. How much must be added to 2024 to be divisible by 17?
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2024+17=119....1

17-1=16

T 54k 160
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[5, 71=35

35 % {4
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A+5B=5x5x4+5x5x3=175

A+6B=6x6x4+6x6x1=180

B=180-175=5 » A=175-5x5=150

150+ Ix5=_Ix(4+6+5)
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2:40x4=10:40(2 %)

30x3=90 &~ =1 pF 30 » (2 &)

10:50+1:30+10:40=23:00 (2 %)

TEIRFEOLSER 44)

International Mathematics Contest (Taiwan) — &E(5 F4k)



2. Two people, Andy and Bob, are running on a circular track. (#1:g ) The two of them walked
towards each other at the same time. When they met head-on (27 ) for the first time, Andy was

120 meters away. After the encounter, both men moved on. When they met head-on for the
second time, Andy traveled another 240 meters. At this time, Bob is still 160 meters away from

the starting point. Then the length of the circular runway is  meters.
<f#{7>

Bk pazg — Blx o & / \
% - =x4pi8:Andy 4_120 =% > Bob 4_7 0.5x-120 = & (2 &) Andy Bob

% - = 4pi8: Andy 4240 2 ¢ > Bob 4_7 x-160-(0.5x-120)2 € (2 4)
240+120=2 (2 )

(0.5x-120)x2=x-160-(0.5x-120) (2 4")

x-240=x-160-0.5x+120

0.5x=240-40=200 > x=400 (2 4)
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¥ > % F2 % Andy ~ Bob 2 [ shESE o
(1)4c® > & _Andy ~ Bob % - = p8 ¥|= = 4p 8 Andy {7 240 &' > & j&F 4~5] Andy ~ Bob %
- x4 Andy 7 120 F > #7102 > A~ B & Fl1A)§a:g enE 57 23 o
(2)[F175 848 g & (120+240-160)x2=400 f -
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